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y=1(Xx - a)

y=1(x)
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y=mf(x)

m>1
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y=0,5cosx-1
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YPABHEHUNA

1) x°+2x=7

2) 2sin x =Xx-1

3) cos 2x — sin x =sin’x +3
4) 4-2°x=§

5) log,(xt+2) =Xx’

6) (x*+2x3-2)”=3x-x
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yf(x)=-2




[x+1]-2[=1,3

y=lIx+1|-2
y=1,5



y,=|x+1] i
y2=| \ 1|- ‘
\ -1 // 1
y=lix+tl2,
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OTBET

1)Ecau a<0, To ypaBHEeHHE KOPHEU He
HMeeT;

2)ecau d=0 niam (I>2,T0 ypaBHCHHUE
HMeeT 2 KOPHA;

3)ecau (d=2, TO ypaBHEHHE UMeET
3 KOpHS;

4)ecan 0<d<2,10 ypaBHEHHE UMeeT
4 KOpHS.
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OTtBeT: 1




A

y=|Ix*-1]-2|

y=2

OtBeT: 4




>

y=[Ix*-1]-2|

O1BeT: a=1
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